Feview: paracetamol
COMParison: 03 morphine-sparing (random)
COutcome: 01 24h morphine consumption (mog)
Study Paracetamol Control WD (random) Wieight WD (random)
or sub-category M Mean (S0 M Mean (=0 95% Cl g 959 Cl
01 Intravenous
Peduto 4z 1z_ 105 90) 47 0. 10f1z.8280) = z4_ 397 -2.00 [-1lz.73, -3_.27]
Delhos 20 34 S001z.70) 20 43 _10(15_ 320) —=- 1l &8 -2.60 [-1&5.88, -1_3Z]
Fletcher 1 15 Zg2.00fE0.320a) 1t FZ_A0(EL_Z0) = Z.47 -4._90 [-z1.z28, 11._482]
Fletcher2 1E 17._40(1&. B0 1k EE.7O(L7.00;) — 4._80 -8.30 [-13_.34, 3_.34]
Hernandez-Palazon z1 Z&_00(1z_ z0) £l 43_30(15.30) = 9.0z -17.30 [-z5.87, -8.393]
Mirmoz Y] 40_ a0 £z 00) 28 4L _00{12._00; —i .48 -L.00 [-14_z24, 4_Z4]
Ziddik1 Z0 gl 10(z3.00) P eE.FO(EZ0.00;) — 3.68 -E.&60 [-18.3&6, T7.76]
Sicdik2 z0 2830015 80) 13 3e_00(15._00) — L.7o =7.70 [-18_.3L5, Z.35]
=inatra 29 23 e0 {2z 70) LZ L7 40iEz_20) —— 2.71 -17.80 [-32332_.41, -Z_.19]
Subtotal (95% CH 200 ZE7 $ 7Z.E0 -2.04 [-11.93, -6.14]
Tezt for heterogeneity: Chi* =646, df =5 (P = 0607, F = 0%
Teszt for overall effect £ =612 (P = 0.00001)
02 po
=hug z25 La.3oi40_10a) Ze Lo_Eoi4z._ 20y —T 1.20 -2_20 [-21.822, 132_4EZ]
Subtotal (95% N 25 26 i 1.20 -9.20 [-31.82, 13.4Z2]
Test for heterogeneity: not applicable
Teszt for overall effect Z =080 (P =0.43)
03 rectal
Cobby zd 2L.00fE0.40) z1l La_30iZa._20) —— 2.0%9 -12_.90 [-324_E0O, -5_320]
kvalzki 20 le_&oia.40) 30 EL.10(11.00;} L Z3.10 -4.30 [-3_25, 0.65]
Subtotal (95% CN) 54 51 i £6.19 -10.53 [-Z5.50, 4.45]
Tezt for heterogeneity: Chif =383, df =1 (P=0.03), F =74 6%
Tezt for overall effect Z=133 (P =0.17)
Total (95% CI) 279 334 $ 100.00 -2.21 [-10.91, -E.72]
Teszt for heterogeneity: Chif=1164, df =11 (P=0.39), F=55%
Test for overall effect: £ =6.25 (P = 0.00001)
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